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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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CONDITIONS

Some conditions to remember:

1. Age some year ago/before/past
2. Present age/current/now
3. Age some year hence/after/future
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CONCEPT
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The present age ratio of A& Bis 3: 5
& the ratio of their ages 6 rs as

4:7. Find the age .W :@

Baﬁraﬁu‘mamram T

3‘-!'5&341335[313111?{63'55‘!1‘13?4. 7

Tl 3 T9 & ATg B h AT 7T L2 .

(a) 90 (b) 84 ‘

W (d) 87 O
/

(e) None of these gp -~ 6







Five years ago, the age of John was 5
times that of his son. Afte m his
IW ITh 9 | 3 TAT g FoRa Avent &

age willL.be.2 times that of his son. After

will he be twice as old

m

as his son? 9T AT UgeA, A hl 3H

A)15 years B) 25 years
C)30years  D)40 yea
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Ik A¢ © 5 AT off| 5 | avg, IR
E)None of these







BASED ON AGES-1

The present age ratio of A& Bare6:

While 15 yearsge of
than age o t that time . Find thi
B after 13 yrs? A & B &1 Ia0H
6: 7% l<aniwz?31 B %t 31y 30 HF

(c) 93
(e) None of these
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Monika, Neha and Bharti are three sister. Monika
and Neha arThe sum of the ages of  (V\

Monika and Neha is same as that of Bharti almy @
)

Three years earlier the ratio of age of Monika
Bharti was 5 : 11 . What will be the age of arti 7 =
years hence? WIfHehT, F8T 3R WRAT &= |

TiAahT R FET FSaT g1 Wit AR 2T hi 37 &
ANT WA hi I & FUrE 21 81 d19 9767 Uget HitAeht
AT WAL hl IW KT 39T 5: 11 9T 7 91

2

WAL Sht 39 &7 g2

(a) 25 (b) 35 (cy 43 »,\l\"& ‘H
(d) 30

(e) None of these
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The ratio of ages of Sto Bis 6 : 13. Also

—
ratio between K’s age two _years after
and B’s age 4 years after will be 2 : 3/ If

the average age of S and K is 15 years.
What will beie three years hence?
S 3T B &Y ATT ot AA79TE 6: 13 71 31 W
a1 K i AT 3R B sl AT & 4 T4 912
&1 AT 2: 3 T T S IR K hH
ATHT AT 15 T4 71 FATTC K hY A d1=
Y AT TR

(a) (b) 19 (c)
12 (e) 8
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The ratio of A’s ages after 3 yrs & B’s
ages S yrs before is 2:3 & the ratio of
A’s ager S yrs before & B’s age 3 yrs
later is 4:7. Find the present age of A?
399 & ATE A S ATT AR B &t AT 5
a¥ ¥ g ST AT 2:3 ¥ AR A R
AT 5 I ¥ UgA AR B i AT 3 AW
q1E T AU 4:7 B A S TAqH A
T hHitAa?

(a) 25 (b) 88 (c) 58

(d) 80 (e) None of these

A vy,
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